B.Com Sixth Semester — Indian Economics |l

* Required

1. Email *

Question Paper / UR-UfAebT

2. Q) What is Agriculture? / 99) Y 7G0TI BRI? 2 points

Mark only one oval.

A practice of cultivating plants and livestock / a<dct 3TTfOT U[eH SUTHUATET Ueh TR
Civilisation / ¥¥gar

A modern revolution / Qe 3MYfeh shici!

Retail / fhentes

3. Q) Which of the following is not included in agriculture? / UR) FHftmed 2 points
ATcATTUh! PIUTT TTETaT FHTGRI ATE?

Mark only one oval.

Farming / <¥dt

Horticulture / Seftedra

Fishery / AR

None of the Above / aiiid<h Shialat ATat

4. Q) Why is Agriculture the backbone of our economy? U-) @ﬁsrg”r 39 edn 2 points
31fIgTIT FHUN &I 3R ?

Mark only one oval.

Employment / ISR
Food / 314

Exports / Faid &1

All of the Above / adteT 94



5.

Q) Which of the following is not a part of the Green Revolution? 924) 2 points

WIcfieTdeh! SIuTdT §Rd Shidtam HIT ATg?

Mark only one oval.

Irrigation / &=+

Insurance Programm / famr @t
Pesticide / chiceh12rh

Fertilizers / @d

Q) What is the Green Revolution? / UR) gRd shid! FgUTS! HBRI? 2 points
Mark only one oval.

A large increase in crop production / He IcTEATd HIST aT6

A large increase in milk production / GUT=IT IATEATT AIST a1
A large increase in meat production / AT IATEATd AT dT6
None of the Above / aiidh wralat ATa!

Q) Which of the following are the causes for India’s Low Agricultural 2 points

Productivity? / 1R¥) YRATde g8 IcUTE-TT FBH! IcTeATd BRO! Wlaferdest
PIUT 3R ?

Mark only one oval.

Inadequate of Irrigation / fE=a-T= SHd=dT
Poor rural credit system / UTHIOT UaS<=T 319G

Absence of Investment / 1'E|E|U],Eﬁ Gl GEW@HQF

All of the Above / a8 9d

Q) What is the full form of NABARD? / YR AT€Ted Yuf ¥4 61T 3175 ? 2 points

Mark only one oval.

National Bank for Agriculture and Research Development/Tgra geft SATfoY e faremrd

cra
National Bank for analysis of rural development/uTHior faerrar=a fasawonard! I s
National Bank for Agriculture and Rural Development/Tgta Gt g TrHtor faehre sich
None of the Above / aiiidh wralat ATa!



9. Q) Which of the following Banks is the apex bank for Agriculture? / %)

@It BT S HTarat ft g% 3R ?
Mark only one oval.

NABARD
RBI
ADB
RRB / UTf2reh aretor sie

10. Q) Which of the following is the major reason for Vidarbha’s Agricultural
Distress?

Mark only one oval.

Unemployment / SRISFTRY
Inadequate of Irrigation / =Tt hazar
Indebtedness / SheteTSIRITON

Lack of Storage Facilities / raeor gfagi=r sr4ma

11. Q) Which of the following district has the highest farmer’s suicide?/ 92)

W teTdeh! DIuTT fSTegld Taiferes TcAg T SITedT 3ed ?

Mark only one oval.

Buldhana / geferom
Washim / arfm

Gadchiroli / TefRRI
Akola / 3Tehtar

12. Q) Why Vidarbha farmers come under the Low Income group? / 934)
faeuidta Aaed wHt 3ca TTeTd &1 AdTd?

Mark only one oval.

Usage of Modern Equipments / 3TgJfAch IUehRUTIEIT aTUR
Alcohol Addiction / g &g+
Indebtedness / SIETSTIRITUT

Absence of Investment / Jdqu[ehrel Srufeddt

2 points

2 points

2 points

2 points



13. Q) Which year has the Prime Minister Narendra Modi set a target of 2 points

doubling the income of farmers? / U) GAUE g HIG! Fivl BIOTAT I
Qe of A I~ GUIT HRUIT W8T ST g ?

Mark only one oval.

2021
2022
2023
2024

14. Q) How much investment is allowed in Micro Enterprise? / UR) J&H 38T 2 points

fepelt YauepIeil WRarTt 35 ?
Mark only one oval.

Not more than ¥ 1 crore / ¥ 1 IEIU&l SId AT81
Not more than 2 10 crore / ¥ 10 hIEIU&T ST ATe!
Not more than ¥ 50 crore / ¥ 50 ShIIO&N Sd ATe!
Not more than ¥ 100 crore / ¥ 50 ehITU&T ST ATg!

15. Q) How much investment is allowed in Small Enterprise? / U) aqmﬁm?r 2 points

fepeit Tcaupepte WarTt 38 ?
Mark only one oval.

Not more than 2 1 crore / ¥ 1 hIEIT&IT ST ATat
Not more than 2 10 crore / ¥ 10 hIEIT&IT ST ATa!
Not more than ¥ 50 crore / ¥ 50 SIEIT&IT ST A8

Not more than ¥ 100 crore / ¥ 50 &hIETU&T S 18!

16. Q) How much investment is allowed in Medium Enterprise? / U9) HEIH 2 points

3ETTd fobelt aauehlet wart 31mg?
Mark only one oval.

Not more than 2 1 crore / ¥ 1 GIEIT&TT ST ATat
Not more than ¥ 10 crore / ¥ 10 hIEIT&IT ST ATaY
Not more than 2 50 crore / ¥ 50 hIEIU&IT ST ATe!

Not more than ¥ 100 crore / ¥ 50 hIETUeT SITEd ATa!



17. Q) What is Privatisation? / U2 TS 1epIUT FEUTS! BT ? 2 points
Mark only one oval.

Investment in Public Sector / STd<ife &HTd TaauLeh
Investment in Private Sector / @TsTT &3Td T[da0]h
Disinvestment in Public Sector / Srdsif-ien &3Teiter fAtfdauyen
Disinvestment in Private Sector / @t &3Tdier FRjdauen

18. Q) Which of the following sectors gives the second highest employment in 2 points

India? / U) T cTdeh! BIUTd &F YR Ga=T ShHIT ASHIR & ?

Mark only one oval.

Agricultural Sector

MSME Sector

IT Sector

None of the Above / aitid<h! Shialat ATat

19. Q) Why Privatisation of Public Sectors happens in India? / %) AIdSIH® 2 points
AT RFNERI0T HRATd T g8d?

Mark only one oval.

Productivity / Idr&ehdr
Profit / traar
Incompetency / wrRIgHdd

Loss / JehdTH

20. Q) Which are the methods of Privatisation? / UR) TR0 SBIUTT 2 points
UGl 3Med?

Mark only one oval.

Initial Public Offering / URf¥eh QTSI 3rdor
Public auction / rdsies ferema

Public tender / Srastfe Ffdar

All of the Above / a3 9d



21. Q) What is Industrial Sickness? / U9T) 3elfTicp 31TSTR U BRI? 2 points
Mark only one oval.

Distortion in the financial position of the unit / shu-ii<ar anfefe fRdra faepddt
Bankcrupcy / feare@tt

Loss / JehdT
None of the Above / aittd<h! shiglat ATat

22. Q) What are the causes of Industrial Sickness? 2 points
Mark only one oval.

Decline in Demand / ARToff g2
Levies / &X
Competition / Tgsf

All of the Above / T 94

23. Q) Which year was the Sick Industrial Companies Act introduced (SICA)? 2 points
UQT) §R 3iieNfiies U= BIIeT (THIAIT) 0TI a8 o] SITeT?

Mark only one oval.

1984
1985
1986
1989

24. Q) Which of the following sectors contribute the highest in GDP? / UR¥) 2 points
ShEtimed @reierde Hiord &= Tafferes ATeH Gara?

Mark only one oval.

Agricultural Sector / e} &=

Industry Sector / JeT &

Service Sector / ¥a1 &5

None of the Above / GO hlalat ATal



25. Q) Which of the following sectors contribute the highest in employment? / 2 points

UR) FaTciteTdeh! SIUTRT 3Tt ASHIRIA Halfeies AT 318 ?
Mark only one oval.

Agricultural Sector / e} &=

Industry Sector / IeT &

Service Sector / @a1 &5

None of the Above / aliid<h! hlalat ATa!

26. Q) Which of the following Service Sector are allowed to have 100% FDI? / 2 points
Q) JATcHTeTdeh! IV VAT &3Td 100% THEI3T SHIUART WA 311R 2

Mark only one oval.

Hotel
Hospital
Air Transport

All of the Above / a¥ia 94

27. Q) Which of the following Financial Sector is allowed to have 100% FDI? / 2 points
TR WTefioTdeh! SBIuTT fahd &= 100% THEI3T HRUATH R 318 ?

Mark only one oval.

NBFC

Banking / SfcmT
Insurance / famT

All of the Above / adte 4

28. Q) Which of the following is not included in the Capital Account? / UR-) 2 points
WIeAleTdch! PIUTT Higdel WTATd JHTARI ATl ?

Mark only one oval.

Foreign Direct Investment / &< URehld fdau]eh
Portfolio Investment / Giéwhiferatt fdauyeh
Payments/2a

None of the Above / aded<ht rgld! ATat



29. Q) Which of the following is not included in the Current Account? / U4)
@TeeTdah! ST TTe] AT JHTARI ATa1?

Mark only one oval.

Foreign Institutional Investment / fa@sft T=mTa Tjdeus
Income / 344

Payments / 24

None of the Above / aiiid<h! hialat ATal

30. Q) Which of the following are the components of balance of payment? /

UR) 3T IHH U WleileTdeh! SIuTd 3Rd?
Mark only one oval.

Capital Account / ¥igad @rd
Current Account / ITe] @rd
Financial Account / sfefes @Td
All of the Above / adteT 99

31. Q) Why does India have a trade deficit? / U) HRdTd SATIRT qc BT 31Tg ?
Mark only one oval.

High Exports / 3= fafd

High Imports / 3= 31a1d

High oil price / 3=a dert fohaa

None of the Above / Gt hTgla! ATe!

2 points

2 points

2 points

32. Q) Which country has the highest trade deficit with India? / %) HRATSRISR 2 points

TURTH TaTfe/eh T PBIUTT ST 31 ?

Mark only one oval.

Pakistan / urferear=
China / &9
USA /3m@Rent

Iran / S07



33. Q) When is Swachh Bharat Abhiyan is celebrated? / U2) Taw® YRd 3=

e IoRT Bl STd?
Mark only one oval.

Birthdate of Mahatma Gandhi / #grT it} gi=m s+ dRi@
Birthdate of Dindayal Upadhyay / &9 &3Tet JUTedT™ il S0 dRIE
Birthdate of BR Ambedkar / Sfieigad: aidt 7 dRi@

Birthdate of Ram Manohar Loya / ¥ H-IgR dAlfgdT Tid! o+ dRIa

2 points

34. Q) When is Knowledge Day celebrated in Maharashtra? / UR) HgRIZId AT 2 points

f&1 et TToRT St STral?
Mark only one oval.

Birthdate of Mahatma Gandhi / A&t Tieh g S dRig
Birthdate of Dindayal Upadhyay / &9 &3Tet JUTedT™ il S+H dRIE
Birthdate of BR Ambedkar / Siieiga aidt 7 dri@

Birthdate of Ram Manohar Loya / I H-IgR difgdT el o+ dRIa

35. Q) Who has given the doctrine of integral humanism? / %) (3=licd)
3Rds AFddIare gl fregur Hivft faeit?

Mark only one oval.

Mahatma Gandhi / TgreaT mief

Pandit Dindayal Upadhyay / tf3a femearer Iureara
Dr. BR. Ambedkar / ST.&. 3R, sfidgar

Ram Manohar Lohia / 39 #-ex «ifgar

36. Q) Who has given the doctrine of Ahimsa? / %e¥) 31fgdrdt foiaur Hioft
feeit?

Mark only one oval.

Mahatma Gandhi / #greT mieft

Pandit Dindayal Upadhyay / tf3d fe-earer Iureama
Dr. BR. Ambedkar / S1.&.3R. sfidga

Ram Manohar Lohia / I #-1gR aifgar

2 points

2 points



37. Q) Who formed hind kisan panchayat? %e¥) fég fed- damad ivft T 2 points
Hel?

Mark only one oval.

Mahatma Gandhi / #greaT mieft

Pandit Dindayal Upadhyay / tf3a femearer Iureara
Dr. BR. Ambedkar / 31.4f.3R. 3fidgad

Ram Manohar Lohia / 39 #-tgR «ifgar

38. Q) Who made Hindi as the official language of India after Independence? / 2 points

U WA R gttt HRaT 3tfergsd HIST FgULH Pivft §Ham ?

Mark only one oval.

Mahatma Gandhi / #igreT mieft

Pandit Dindayal Upadhyay / tf3d fesearer Iureama
Dr. BR. Ambedkar / S1.&.3R. sfidga

Ram Manohar Lohia / I #-1gR aifgar

39. Q) Who made it possible that women should have equal rights? / 924) 2 points
AT GHH g fAesTdd T IV AR STt ?

Mark only one oval.

Mahatma Gandhi / HgTcHT Tieft

Pandit Dindayal Upadhyay / tf3d f&earer Iureama
Dr. BR. Ambedkar / 1.8 3R, sfidga

Ram Manohar Lohia / I A=gR dtfgan

40. Q) Who has given the Swadeshi model of Economic Development? / U9) 2 points

anfefes faeramrd wacait Aige Hivf fgm?
Mark only one oval.

Mahatma Gandhi / HgTeHT Tieft

Pandit Dindayal Upadhyay / tfsa femearer uteara
Dr. BR. Ambedkar / SL.dl.3(R. 3fissehe

Ram Manohar Lohia / 39 #-ex @ifgar



41.

Q) Who has shown the principle and practice of Satyagraha? / UR9) ITIG 2 points
frgid 9 3pa1g HIvit gRafaer 3Mg?

Mark only one oval.

() Mahatma Gandhi / agreaT mieft

() Pandit Dindayal Upadhyay / tf$q feeare Sureama
(") Dr. BR. Ambedkar / ET.&t.3TR. 3fidge

(") Ram Manohar Lohia / I a+lgx «ifgar
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